A

19228 120 MINUTES
‘ETATIOE I9T S ohT SshdT 2
A)  STIRIHAET B)  SUTHhAET
C)  UIFEshARET D)  AFIEhAET

10.

‘TJUeh AT IS TR TREIAT - 2

A)  URYATHASHATET B)  VCHEShAET
C) U D)  UAIEShATET

‘T, AT T ST T ol - s e 2
TG

A) B) {HE
C) AU D) UREE
STYTRISIION HiEHT 3Tgh ARG HTTIT?

INERE B) UsuH C 9w D) =qd

SRRt ATaTE: 3 e ATHEa ?
A) fogme® B) R C) A D)  Hogih:

ST TR A SIS HRRHTC SROT 05T -2
A)  SEE HUS B) g HUS
C) T W D) UEd¥ A&h

‘T4 T TAIETET W Yl STt S -2
A) deRT  B) UEHEHA!  C) HYHREA D) UgHEER

ITATE SO AmE R
A) et B) &l C) ol D) &t

AT TSTHIGHART [Tem: 3Telqeiush: &r ?
A) Togfasenr By vawE: C) TVSOSET D) IGHEAR

ERIEIEEEEGIFEI R
NS B) 3T C) TER D) T



1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

T ATANFERE o UEeEded shien el faed 2

A  FIEEAH B) JoE@H C)
T JTERTT 7?2
A)  HRC B) el C)
FARINT HE T AR 2
A) g B) I C)
TefATesey o Femfe wafq 2
NS By M| 0
‘o 3 e TR AT ?
Ay EIW B) dRTEE )
Match the following:

List 1 List 2
a) A 1 SRR
b) ﬁ?@fm\ 2. U=BRE
) Fe 3. SWERE
d | 4. e

A)  a2bdc1,d3
C)  a2blc4d3

B) a-2,b-1,c-3,d-4
D) a-2,b-3,c-4,d-1

FHehedh

groae:

ITTHIT

=

h &

3T

TR Tl TFalaeRTar: At & 2
A) T B) AT )
AT S HRRT o Sora 2

A) B) o C)
‘T 3T T Tee AT ?

A)  TEE B) T C)
YR 37y o 2

A) P B)  3T¥eII 0
December 25" is not suitable for marriage. Because....
A) Dakshinayana is not acceptable

B) Sukra possesses a childish stage

O] Ravi possesses the Dhanu rasi

D) None of the above

D)

D)

D)



22.

23.

24.

25.

26.

217.

28.

29.

30.

31.

‘g1 TR - ?
A foew B) 3T c =™ D) TER™

aTefAfey forment urem fafers = 2
A)  Uidud B)  =een C) smEE D) fgdmEn

~

-

T ASHNT bt ?

A)  SgEET B)  E@9UT C) TR D) 3fEwfd
Match the following:

List1 List 2
a.  oarggIeT 1. REMET
b.  FEATEE: 2. YRERETET
c. fogrferimhm 3. e
d.  TiUTaeRETe: 4.  TEERMERE
A) a-2,b-3,c-1,d-4 B) a-1,b-3,c-2,d-4
O] a-4,b-3,c-1,d-2 D) a-3,b-2,c-1,d-4

Year of birth of Aryabhatta ?
A) 587.A.D B) 598.A.D O) 476.A.D D) 1172.A.D

Which text is popularly known as Hora ?

A)  TESAeH B)  gecdfeal ) WAl D) gagEredr

ATTTacT hal 7 ?

A)  TREMEE  B)  SEAEE C) I D) Y&

What are the five siddhantas mentioned by Varahamihira in Panchasiddhantika ?

A)  YdmEr, SIS, WfesT, 9, 9
B)  Udme:, SNiass:, WieAsT, AHeh:, i
D)  UdMe:, 3T, WS, THeh:, WG

Read the following statements and choose the correct answer:

1. Sripati criticises Aryabhatta’s theory of the rotation of the earth.
2. But, Brahmagupta agrees with him.

A) Both are correct B) 2 is correct and 1 is wrong
O 1 is correct and 2 is wrong D) Both are wrong

‘gresta’ 3 | e 2
A) WHEBME B) TAWHA ) WIIAWH D) ¥HESH



32.

33.

34.

35.

36.

37.

38.

39.

40.

T GAT T ‘s’ﬁraﬁrwmﬁ‘?
A) =M wﬁ'l%r@gﬁﬁm U AT
C)  SFIANEHI TUSTERE D) ELHRH

‘Fista T I TRROM 3 IR Th 2

A) BRI B) W&l
C) 99 IR I D)  sgy
Match the following:

List 1 List 2
a. i dehdiee TureEA 1. widtedmer
b. IS IR 2. HUEY
c. ToRmv fowrenr sgery 3. ToraekvEl
d  oIeRH 4. g
A)  a4b-1,c-3,d2 B)  a4b-1,c-2,d-3
C)  a2b-lc4,d3 D)  a4,b-3,c-2,d1
MY SeEs S o T 2
A) T T B) Il HIESIN:
C)  YArEEEEm D)  STRESOSaRaTET]
‘TSR AT A AR R 2
A) A gul 5 B) WS S
C) T TSt D) T S
Read the following statements and choose the correct answer:
1. iy fomafa
2. TE foEEa
A) 1 is correct and 2 is wrong  B) 1 and 2 are correct
O 2 is correct and 1 is wrong D) 1 and 2 are wrong

qu%r T TS T AT 2

A) B) TiyasaAr YoM
C) u‘qumT TR D) SR WO
WYEE Yfoor Fiwae &4 fH 2
A) TR B)  3H C) == D)
‘e’ 2 e geagees w9 e 2

A) HIAHEH B) HII-HMH O HITHH D)

~ ~

~



41.

42.

43.

44.

45.

46.

47.

48.

49.

“ HTOTerh G A 3 TART: o 0T 2
A) QU HH B)  3THIUd o
C) STV FHHT D) AT fgeEn

‘BT S TR IER T THNT ?
A) R B)  Sgdles C w5 D)

‘HERET, W T AR -ARAA 3 TS R 2
A) AT B)
C)  eal I T D) OSET

‘et A’ e AT A AT
A)  TharITOUSE = HHTT S

B) WU ieEEHd

C) IR faweT:

D) R ﬂﬂﬁl At

Read the following statements and choose the correct answer:

1. va= =l

2. I REAM|

A) 2 is correct and 1 is wrong  B) Both are correct

O] Both are wrong D) 1 is correct and 2 is wrong
‘g AUETHRYE S 0T Tafed: Teaar & 2

A T B 0 = D)
‘ToEM’ 3T v gaHiEgae w9 R ?

Ay fagey B) fogy c) T8 D)

Read the following statements and choose the correct answer:

1. OEdr R aivnR watd
2. UIEd R OivERar watd

A) 1 is correct and 2 is wrong  B) Both are correct

O] Both are wrong D) 2 is correct and 1 is wrong
TR 37 SHEAIGUETI W& T 4l HeA-ue faead 2

A) 39 B) AT O) aHq D)

o

ﬁ.



50.

51.

52.

53.

54.

55.

56.

Match the following:

List 1 List 2
a.  WueRw el 1. TR ausT
b. TEEEd 2. EhATEl SR
c. &I yeRfd 3. 3 Wi
d. I eRTH 4.  vEE
A)  a2b-l,c3,d4 B)  a-2b-l,c4,d3
C)  a3.b-lc4d2 D)  alb2c4d3
AATIETHRECRR T [T usa- Irad TR o6 2
A)  ATHHSSIC: B)  ~ATIehIUTHTATEAT
C) AT D)  —AEGHeradr

‘AR O wOq -37 TR e R 2
A)  BUYE ATATTaIRIE  B)  SeAsTqeaaromg
) TrselEasEem D)  3THRIEERUTT

T foh wTefory 2

A)  OEREEHE: B) AR

C) OIPRUGHET: D) GARIGATIE:
ST A rEmETTIehcI - AT ?

A)  FEUEEE B) Mg

C) AR D) o ITRITe:

RIS a SR AAIgE e TeTo ?
A) AT B) AT

C) W™ D) Rafawms=

TR faferes foemurseay, faRreaHE, IUEifd Had-35ATH e
TEAT?

A) TR B) OlaheIHITS

0 Tioweasrame D) RIS



57.

58.

59.

60.

61.

62.

63.

64.

Match the following:
List 1

a.  STSANEST

b.  HIROTHRIH:

C foesT

d. oy

A)  adb2c1,d3
C)  a2blc4d3

STCHHTOT: % 2

A)  GERE TR

C)  YHHE

AT AT 2

A)  FHaTARIBEI

C)  SFIIACRIREIA

Match the following:
List 1

a. HAEH

b.  THMH

c. STHFH

d. NEH

A)  a2b-lcd4,d3
C)  alb2c4d3

=

List 2
1. vear afeamH JHEeE
2. Vsl e e
3. IR TR
4.  THERES I, RFT<Em
B) a-3,b-1,c-2,d-4
D)  a4b-1,0-2,d-3
B) SRR T
D) TEHERE
B) Ao
D)  STAIERE AId
List 2
AR THY
BN EEEIFN IR IEEH
T IATIIY
B) a-3,b-1,c-4,d-2
D) a-3,b-1,c-2,d-4

Read the following statements and choose the correct answer:

1.  HHYGHT TATERINOT Jai= |
2. AT ISETARIROT i |

A) Both are wrong B)

@] 2 is correct and 1 is wrong D)
TCEIE STHAATIHRROT e 2

A) @I B) @ C)
BRIECR R E i e i

A) SHEYHEY  B) WA O
‘ SYEST WIAeqeaT - | FF a2
NIk B)  TeHM C)

RISRKN

SR

T

1 is correct and 2 is wrong
Both are correct

D)

D)

D)

-
0
.

IR

gfersaT



65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

T ATABSIET ThaTadT o iGN TA-I0M 2

A)  STETAL B)  STSTeocteton
C)  STegsTeectaluN D) T

‘Fataed TaeTTe=aTTe g GHIqarey - 37 Fararsd g foated 5 2
A)  TEEEIe B)  [asforerseery

C) ToeuiEmae@e D)  WEdaasenReeey

-~

e |id STREHaae QM TeI0H-3T 377 3d Sl [oh TS ?
A)  THURHMRT STqeqarom

B) HAMIRY SAfdedarons

C) 3ITIvE SAfqenfaarons

D) IR

EINE-EDIR N UEIC I RER:

A) RYTEH  B)  ad@H C) Hewq D) T
‘T T IHEEHETINT | FHeeH oS - 2

A)  TERE B) @HE: C) dWgg™ D) SiarT
AT e fom AR 30 SRR & 2

A) AFKERM B)  FE=EE C)  TEMET D) gEioRiEder

AU ATAN R TTI=T A9l U8 &t 2
PN H B) I

C) IWa@ D) M

FTETTAATAE faaga-aaers 6 ?
A)  fagos B) R C) T D)  EITEhRT

Match the following:
List List 2
a. EH 1 3§\|5i20|$1‘:
b.  va&E 2. SR
C. hehel? 3 gJoht
d. A 4 STFHUTh T
A) a-2,b-3,c-4,d-1 B) a-4,b-1,c-3,d-2
O) a-2,b-4,c-3,d-1 D) a-3,b-4,c-2,d-1



75.

76.

7.

78.

79.

80.

81.

82.

83.

&4.

85.

86.

SRR w2

A)  TIUE B) U C) U D)
HIGIT FRTeA = & 7 forrd 2

A) AR B) 312 C)  wHE D)
FREATRTT HEHTg, IcTE 2

A)  fowgemE B) He C) Ha¥e D)

~

IS et et ey ssfHat wsiq 2

A)  STERt e B) ffoereusrammt
C) ooy D) S HETET
TSRO I 2

A) WA B) ST C) @ D)

STt ST SR G ST 7 HeTeneT - ?
A) T FEEETTET] B)  SHMSRE

~

C)  THTOTHTET D)  STHTRUTRET]
T YA, I T FEemuedd |

A)  TCIETTE B)  STHETEH

C)  SUHFTEY D)  STIHAeaTY

A)  TREEYEreEEEEH B)  SRATHEEEey
C) WEERE NG D) HeEEq

~

‘%% FevIgElg W IR e MWE%WWS@I‘W?

A)  HERE B) ST
c) ToEm D) U

~ ~



87.

88.

9.

90.

91.

92.

93.

94.

A 30 R 2

A) FFFH  B) H@H C) T D)
‘TR ATIEET - ?
A) e B) fa@Fad: ¢ HEME D)
‘It Ffcesla o aq -k Fear 2
A)  UagEeTe Siee B)  UdgTeresH e
C)  Td §ER Fleel D) Ud WHCHH el
=t foh ot 2
A)  HEEH B) 3 ) U D)
Match the following:

List 1 List 2
a. FTAE: 1. ST
b. T 2. YT
c.  gmeR: 3. @’
d. EDCEEE 4, g

A) a-4,b-2,c-1,d-3
O] a-3,b-4,c-1,d-2

B)  a-1,b-4,c-3,d-2
D)  a2,b-4,c3,d1

How many recensions are there to Samaveda ?

A) 21 B) 1000 C) 108 D)
How many cantos are there in Bhattikavya ?
A) 20 B) 17 c) 19 D)
Match the following:
List 1 List 2
a. 3T FHhTAEH df ASTASHT 1. e
b. T of: oimfq wmfag s 2. ST
c.  THYET UUSHEUSIEAT: 3. Svem
d. foutm vt i i v 4. et

A) a-1,b-2,c-4,d-3
@] a-3,b-4,c-1,d-2

B) a-4,b-3,c-1,d-2
D) a-3,b-4,c-2,d-1

10

22

~



95.

96.

97.

98.

99.

100.

101.

102.

103.

Select the particular metre which belongs to atyasti chandas.

A) SRTEH B) T

0) HKTh[T D) BT

The author of Nalacampu is...............

A) Vamana Bhatta B) Trivikrama Bhatta
O Harichandra D) Somadeva

Venkatadhvarin flourished in which century?
A 17t B) 14" c) 15" D)

Who is the author of Sisyadhivriddhida ?
A) Sridhara B) Varahamihira C) Lalla D)

Which one is the example of SMIRTHTETSH ?

A) 3T FAESE AR AN |

B) IMIEHATE WihHd GHgeam |
C)  STEER foT Iy faeraey |
D) 379 g gSife: Qg 39 ST )T 8707 |

‘ST ZATEAT T T TehTaIeh T, - ST hIT ot ?

A) TR B)  ShrATTETH

C)  3ORT D) ARF

Read the following statements and choose the correct answer:

1. Latin belongs to the Italic group of Indo-European family

2. Arabic language belongs to Indo-European family

A) Both are wrong B) Both are correct

O] 1 is correct and 2 is wrong D) 2 is correct and 1 is wrong

Gujarathi language is derived from which Prakrit ?

A)  TIREH B) U C) HENT D)
Match the following:
List 1 List 2
a. Grimm’s Law 1. septon-sapta(Skt)
b. Verner’s Law 2. palnis-panis(Skt)
c. Grassmann’s Law 3. pod-pad(Skt)
d. Fortunatov’s Law 4. dhidhemi-dadhami(Skt)
A) a-1,b-2,c-4,d-3 B) a-1,b-3,c-4,d-2
@] a-3,b-4,c-1,d-2 D) a-3,b-1,c-4,d-2

11

1 Oth

Bhaskara



104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

114.

Which one is the example of generalization in Semantics ?
A) mrga-deer B) asura-demon
@] pankaja-lotus D) kusala-clever

All sandhi changes in Sanskrit can be cited as examples of ........ .
A) Organic change B) Combinative change
O] Acoustic change D) Isolative change

Who is the author of Darsanamala ?
A) Sree Sankaracharya B) Sree Narayanaguru
O] Chattampi Swamikal D) Tapovanam Swamikal

What is the period of Ramapanivada ?
A) 1700-1760 B) 1885-1958
O) 1817-1902 D) 1812-1846

Who is the author of Vyutppattivadasiddhantamala ?
A) Ramavarma Pariksit Thampuran

B) K.Ramapisharoti

O] Mantitta Kunju Namboodiri

D) Godavarma Bhattan Thampuran

An ayurvedic work written by Kaikkulamkara Ramavariyar ?

A)  EEIE B)  AMReAEa

@] SHRFHenedgH: D) 32||I|12|i:€|ﬁ|1:|ib|;
A Mahakavya written by A.R.Rajarajavarma ?

A)  TEERAY B)  STEIOIESI
C)  HEHARaH D) fovmaiasa:

TR RI e ATeesT -TRATe: &t ?
A) WEHET B REem ¢ 2 dwss D) el

‘ R |

A) R B) {SMH C) PRH D) TEERA
‘7T TERTE AmEEaaEdl MR ST - 3T B Ue featerdts o e
Ay A B) W C) EERom p) A

‘T AT A5STST @ T -
A) M B)  aUNHg c ™M D) {EH

~ ~ ~ ~

12



115. Match the following:

List 1 List 2
a.  UIGSTRAORTRITT TSR SR | E  ECEEIBGICIEH
b. 7 IO SHAMEE: Hvad 2. TedrETvTEeTE:
c. N RN TEeaesdsosy 3. ORRAE:
d.  SfqeCRAEAT = Sead ad 4. goAETIEER:
A) a-4,b-3,c-1,d-2 B) a-1,b-4,c-3,d-2
C)  a2bdc1,d3 D)  a3bl,c2d4
116. “Tfatdeuifsar’ - 2
A  VREAGHRE B)  ITAIEHRE
) D) TTEE

117. Tty oeR-emens, et TERerer |

AT TAIRIEIuHaId JaT || -3 ST TSI & 2

A) T B)  SUAl c) ToREYRT D) qoEEinTar
118. fosorr e R shidfaes ?

A)  Tgfaers B)  dglaes c) e D) UsHaET
119. Match the following:

List 1 List 2

a. 39 1. e WA

b. 2. STISEESH B |

c. forgm 3. U] 9N qaress |

d.  fowarm 4. POl TR |

A) a-3,b-1,c-4,d-2 B) a-3,b-2,c-4,d-1

C)  a2b-l,c4,d3 D)  a3,b-1,c-2,d-4

120. ‘FFataq dlccbwid\ ST - 2
A) TR GO ST B) T UM ST
C)  STceT ol D) 3TEE SENESTI 85T

13



